16 www.raider.bg

Exploded drawing of HYDRAULIC BENCH PRESS WITH PRESSURE

GAUGE RD-HP03




[N F™

Parts List Hydraulic HYDRAULIC BENCH PRESS WITH
PRESSURE GAUGE RD-HP03

Jack Ring/header

20 | Baes Supports
21 | Up Board

22 | Pump Board

23 | Separated Jack
24 | M10 Nut

ITEM Description QTY
1 M12x30mm Bolt 8
2 | M12 Washer 8
3 | M12 Nut 8
4 M12x120mm Bolt 4
5 | M12 Washer 4
6 M12 Nut 4
7 | M12x30mm Bolt 4
8 | M12 Washer 4
9 M12 Nut 4
10 | M10x20mm Bolt 2
11 | M10 Washer 2
12 | M8x15mm Bolt 3
13 | M8 Washer 3
14 | &$19x170 2
15 | Spreader 1
16 | Frame 2
17 | Bed Flat 2
18 | Arbor Plate 2
19 2

2
2
1
1
2






